(MZE[C @ppp HE =74 K H-Model Linear Guides LGH series qeq@ (0122

w N L
4-M X 2 L
D
L 3 05 D
F @))
H ; fi ; S— i S -
h ¢d i R
| Lid
Ho P 1
G nXP (G)
.(/ Lomax
P Mx My Mz
A e A
%121 : LGHY ) —X5FE&R BAGT : mm
il & MAET N7y v T L - v <t FES TN = A=y TV ARERWE | BUREE—2 Y (XTYYT L
@ Ch My My M, B B
H|H | T | W]| L w [) L, F | Mx¢ | T h P G Dxdxf Lomse | AR | £, | N | &N) | (kN) |(kN'm)|(kN'm)|(kN'm)| (kg) | (kg/m)
LGH15 28 | 46| 95| 34 | 56 | 26 | 26 | 40 | 234 | m4x6 | 15 | 14 60 20 | 75X 45x% 53| 4000 | 3 9 4 | 9321349 | 007 0.05 0.05 0.22 1.4
LGH20 30 | 5 |12 44 | 67.8| 32 | 36 | 488 25 M5x8 | 20 | 18 60 20 | 95x 6 X 85| 4000 | M6x1 7 | 15 | 15.00 | 21.08 | 0.22 0.18 0.18 0.35 2.6
LGH25 40 7 |125] 48 [ 78 | 35 | 35 | 57 |33 M6x9 | 23 | 22 60 20 |11 x 7 x 9 | 4000 | Mex1 | 12 | 15 | 2055 | 2731 | 0.35 0.31 0.30 0.48 3.6
LGH30 45 | 9 |16 60 | 99 | 40 | 40 | 72 [ 36 | m8x12| 28 | 26 80 20 |14 x 9 x12 | 4000 | Mex1 | 10 | 14 [ 3074 [ 4131 | 059 0.49 0.48 0.90 5.2
LGH35 55 | 95|18 70 [109 | 50 | 50 | 80 | 455 | M8x12 | 34 | 29 80 20 |14 x 9 x12 | 4000 | M6x1 8 | 14 | 4087 | 5396 | 094 0.74 0.72 1.20 7.2
LGH45 70 | 14 [ 205 | 86 [1382] 60 | 60 [105 | 56 |Mmi0ox16| 45 | 38 | 105 225 (20 x14 x17 | 4000 |[M8x1.25| 10 | 13 | 7032 | 9273 | 2.12 1.67 1.65 2.30 123
F122 i EEL—-IRE BART : mm
bl # L = v & s L=
100 500 1000 1500 2000 2500 3000 3500 4000 BAES
LGH15 I?O ‘ 25‘30 ‘ 490 ‘ 5‘20 ‘ 61‘10 ‘ 7?0 ‘ 88‘30 ‘ 1090 ‘ 11?0 ‘ 12‘40 ‘ 13‘60 ‘ 14?0 ‘ 1690 ‘ 17?0 ‘ 18‘40 ‘ 19‘60 ‘ 20?0 ‘ 2290 ‘ 23?0 ‘ 24‘40 ‘ 25‘60 ‘ 26?0 ‘ 28‘00 ‘ 29?0 ‘ 3q40 ‘ 31‘60 ‘ 32‘80 ‘ 34‘00 ‘ 35?0 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4090 000
4
‘ 2‘20 ‘ 3)10 ‘ 4é0 ‘ 5!30 ‘ 760 ‘ 8‘20 ‘ 94‘10 ‘ 1660 ‘ 11‘80 ‘ 1360 ‘ 14‘20 ‘ 15‘40 ‘ 16‘60 ‘ 17‘80 ‘ 19‘00 ‘ 2‘020‘ 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 25‘00 ‘ 26‘20 ‘ 27‘40 ‘ 2§60 ‘ 29‘80 ‘ 31‘00 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 37‘00 ‘ 38‘20 ‘ 39‘40 ‘
LGH20 1§0 ‘ 2§0 ‘ 490 ‘ 5?0 ‘ 61‘10 ‘ 7§0 ‘ 81‘30 ‘ 1090 ‘ 11?0 ‘ 12‘40 ‘ 13‘60 ‘ 14‘80 ‘ 1690 ‘ 17?0 ‘ 18‘40 ‘ 19‘60 ‘ 20§0 ‘ 2290 ‘ 23?0 ‘ 24‘40 ‘ 25‘60 ‘ 26?0 ‘ 28‘00 ‘ 29?0 ‘ 3q40 ‘ 31‘60 ‘ 3%80 ‘ 34‘00 ‘ 35?0 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4090
4000
‘ 2‘20 ‘ 34‘10 ‘ 4%0 ‘ 5é0 ‘ 760 ‘ 8‘20 ‘ 9)10 ‘ 10‘60 ‘ 11‘80 ‘ 13b0 ‘ 14‘20 ‘ 15‘40 ‘ 16‘60 ‘ 17‘80 ‘ 19b0 ‘ 2‘020‘ 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 25b0 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 31‘00 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 37‘00 ‘ 38‘20 ‘ 39‘40 ‘
LGH25 2‘20 ‘ 34‘10 ‘ 4(?0 ‘ 5!‘30 ‘ 790 ‘ 8?0 ‘ QI‘tO ‘ 1q€0 ‘ 11‘80 ‘ 13‘00 ‘ 14?0 ‘ 15‘40 ‘ 16‘60 ‘ 17‘80 ‘ 19‘00 ‘ %029 21‘40 ‘ 2%60 ‘ 23‘80 ‘ 25‘00 ‘ 26?0 ‘ 27‘40 ‘ 28‘60 ‘ 29§0 ‘ 31‘00 ‘ 32?0 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 37‘00 ‘ 38?0 ‘ 39‘40 ‘ 0
400!
"280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960 '2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
280 440 600 760 920 1080 1240 1400 1560 1720 1880 2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
LGH30 —t+t+++—+—+—+—+—+—+—F+—+—+—F+—F+—+—F+—+—+ —tttt++——+—+——+—+——+—+——+—+——+—+——+—f+—F+—+——+—F+—+— 4000
360 520 680 840 1000 1160 1320 1480 1640 1800 1960 2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
280 440 600 760 920 1080 1240 1400 1560 1720 1880 2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
LGH35 —tt+t+++—+—+——+—+—+—+—F+—+—+—F+—F+—+—F+—+—+ ——ttttt+t—+—t—+——t——+—t—t+—t+—+—+—f+—F—+—+—F+—F+ 4000
360 520 680 840 1000 1160 1320 1480 1640 1800 1960 2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
570 780 990 1200 1410 1620 1830 2040 2250 2460 2670 2880 3090 3300 3510 3720 3930
LGH45 f f f f f f f f f f f f f f f f f f f f f f f f f f f f f f f f — 4000
675 885 1095 1305 1515 1725 1935 2145 2355 2565 2775 2985 3195 3405 3615 3825 4000
LGH25 —CG —2 x1300
n g ] L—WEEWL)
L= KICERTEINTI I8

JY—=2
®ES BETY—Z
CG D)=V T1)—R

VG E5—R
HG 51—
FG R =R

186 XY U—ROHIRPIOS R 187



